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Candidate should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.

2. 9lET IRH g & qled d1g, Tl g7 g YR H gsdier IaeT W o o sHA FS
faer T, Wer AT Fer AT Yvo HAAT U, N 7 g ARG v g, o 3§ wE ww qieasn
q dea o |

Immediately after the commencement of the examination, candidate should check that
this Question Booklet does not have any unprinted or torn or missing pages or
questions, etc. If so, get it replaced by a proper Question Booklet.

3. UA-UF 90 WAl aTell Teh YRA-GREAHRT Bl WA UR IccRT & WY aEdfAss YR & g, foreret
¥ o T 3l FARTT & & T 819

The question paper is in the form of a Question Booklet with 90 questions. Questions
are of objective type with four answers indicated, of which only one is unambiguously
correct.

4, 3UA Icadl F A B & fov FATANR fic W o@=/aqd a7 & AU 719 dfd dige 9
(Ter AT Aren) FT T 9IRT HY| NTAIR e 7 3magsd fQera X 3R 3car v3a & B 7w

%aﬁ%mﬁmaﬁzﬁmﬁamvﬁﬁaﬁmﬁmaﬁrmwmaﬁl

Use only Ball Point Pen (Black or Blue) for writing/ bubbllng on OMR sheet. Enter all
required details and select the right answer by marking the corresponding oval on the
OMR sheet as per the instructions given in the OMR sheet.

Please see the last page of this booklet for rest of the instructions.
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SET
A

Frefafiaa 1 @ =i i kel Hiet sSgdt vifth Uik dfed o widl 27

Which one of the following single phase motor performs with better power factor?

(a)
(b)
(c)
(d)

@i 7t / Universal motor

yfeereur #iet / Repulsion motor

gefa yadi wiet / Capacitor start motor
g =fera wiex / Capacitor run motor

B1fed Yd Tehehe Hiet 8 fihTH /Srmaret 85 % g der 8 &

In shaded pole single-phasemotor, the revolving field is produced by

(a)
(©)

gefa / Capacitor (b) M= / Regulator
BT 90 / Shading ring (d) el / Winding

et -1 =1 3ifen efie-ida & srfir el & e 38 UF ya Siaud % G Sia T @ F FEd 3

The end lead of the coil 1 is connected to the beginning of the coil placed at a distance
equal to one pole pitch is called

(a) E =eE Fee / Simple lap winding
(b) wE T A / Simple wave winding
(c) fe= =g geeft / Duplex lap winding
(d) T T Feeht / Duplex wave winding
@ & A arceat aRyoT Sy ERU G
In India, high voltage transmission is mostly by
(a) Tmmft yumet / Overhead system
(b)  wffrma womeft / Underground system
(¢)  (a) 3 (b)<Hi/ Both (a) and (b)
(d)  3ulh H @ =iE 7€ / None of the above
3
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ACSR =eis | BT 2|

ACSR conductors have

(a) @i aerss sfeyfuftam s @1/ All conductors made of aluminum

(b)  wred =res sfegfufam @ s / Outer conductor made of aluminum
(¢) e drersh siegfifaa s a1 / Inner conductor made of aluminum
(d) IS =rereh Fegiam o1 1 =€l / No conductor made of aluminum

uftge § & ®S o HLeq1 Y At 2|

A fuse in a circuit provides protection against
(a) @aruiay / Open circuit

(b)  sfewm/ Over load

(c) U ufy ud At / Short circuit and over load
(d) @arufwy vd HAfgwrR/ Open circuit and over load

=i & vyl daa | SIS QU SAITIT ST B

Above floor level, a switch shall be installed at a height of

(a) 0.5t/ meter (b) 1.2 diex/ meter
(c) 2.3t/ meter (d) 1.5/ meter

et o STel Siie s foRan SirdT @ 98 e7uféra vt e d 2l

The illumination required for a workplace where fine work is performed will be in the

order of .
(@ 1000 wgu=a /et / lumens/meter

(b) 1000 wgi=g /. HieX / lumens/sq. meter
(c) 1500 == /%, #ieX/ lumens/ sq. meter
(d) 2000 wgE=a /. #eX/ lumens / sq. meter

4
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10.

11.

12.

URE ST oY H wfilioss, geae sodere § A § 21 8T @ | 39 Wiatish o ST € o1 T 1 87

In mercury vapour lamp, a resister is connected in series with auxiliary electrode. What
is the purpose of resister connected to it?

(a)  rhi Tursk Hifed =21/ To limit the power factor
(b)y  wadu g €ifird s / To limit the starting current
(c)  dieedn difird %1/ To limit the voltage

(d) 391 #E1/ To limit the energy

frfafiaa s €t srgwm a DC s 27

In which of the following application, DC is essential?
(a) Temga s giet / Electric traction motor

(b)  faegd wie 3w / Electric home appliances

(c) =i wfg "X / Machine shop motors

(d  w&ifa/ lllumination

PR 3Teh! GUTET STaaTdeh o 7T g ) W9 2 38 St 1 2 39 1 31 1 a9 & ford
=t ST ek a1 T Il ST ST SehdT 2 |

You have to repair storage type water heater which has steam in hot water. The possible
remedy for this trouble can be found by checking

(a) @i gwre & faig / All points for possible leakage

(b)  droEdl sgaEAT9H / The thermostat setting

(c)  o1ag "auH o forg geft ameeemd= / All wirings for loose connection
(d) feufa s ferd @ / Elements for its condition

<1 ufaeri % <ff= foega foriem &g weRTefia e o1 sedure foha stran 81 werrefir e T
Tsh TRt 2|

.Optocouplers are used for electrical isolation between two circuits. An optocoupler is a
single package of ;

(a) LED siRusaere/ LED and single diode
(b)y LED 3R wsmg™is / LED and photo diode
(¢) A wsmErErE/ Two photodiodes

(d) @LED/Two LED's
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13. H.T.ﬁrﬂv&waﬁﬂw@ﬁmwaﬂﬁ%@aﬁqmﬁqﬁﬁaﬁs@ﬂmﬁWﬁ

What is the type of insulator used for holding the H.T. overhead conductor on straight
running poles?

(a) e fagatus / Post insulators

(b)  <hich weshn ferggadiash / Pin type insulators
(c) = fegaia / Stay insulators

(d) e frgadess / Shackle insulators

v

14,  Taega wefei & gefed St T % 309 & gEiwTe TR S B

In electrical machines, laminated cores are used with a view to reduce

(a) fedfmeif/ Hysteresis loss

(b) e umw e / Eddy current loss

(c) am@f/ Copper loss

(d) 3w ¥ =iE 7=/ None of the above
15. a7 Ao wwel § atai 6 gren o ford 1 SEHT HAT e |

In case of arc welding, one should protect his eyes by using

(a)  shren =il 3ATeR0T / Dark glass screen

(b) <9 I =¥HT T / Sun goggles L

(c)  3awh / Mask

(d) @k =war/ Clear glasses

16. 60 W 3it 40 W 3 2 <ii & alteest fuft awm a2 40 W &g a1 afaie n

60 W and 40 W lamps are of the same voltage rating. The resistance of 40 W lamp is

(a) 60 Wdud=n/Lower than 60 W Lamp

(b) 60 W eiuswam/ The Same as 60 W Lamps
(c) 60 W ofudsarar/ Higher than 60 W lamp
(d) 3ulrn # & &g 7€l / None of the above

6 PC-07/2018



e I9AT &% (38 ), AEHQTETE
'4"' SPACE APPLICATIONS CENTRE (ISRO), AHMEDABAD SET
S CERINPESC M ERErANET) A
TECHNICIAN ‘B’ (ELECTRICIAN)
17. YehL o Y1 4 1T 3T g wraret arel SAfHemsh v eid 2|
type of fire, both foam and dry powder fire extinguishers can be used.
(a) @i A/Class A (b) @iB/Class B
() iC/ClassC (d) =fD/Class D
18.  vaTde o1 SEIHTS SUHIET A [EDIEIGIE|

19.

20.

21.

A breather is used in transformer
(a)  ¥iiad = ford / for cooling

(b) o stftware % forw / for oil overflow
(c)  d@dhramyfd / to supply oil
(d)  gdi=art 3yl / to supply dry air

e steet sl i foafSia staeen § et 3 v 7 =il g |

A lead acid battery should not be left in discharged state for long otherwise,

(a) wizHHd gl / Plates will become sulphated

(b) 37 sfedq &1 s / Acid will evaporate

(c)  zfiae genf@ & <mdt / Terminals will get corroded

(d) forga srgeeh fafie v sgm / Specific gravity of the electrolyte will increase

HTSHT BIdT 2l

Mica is .

(a) =@ / Conductor (b) faganeh / Insulator

(c)  erefaTeis / Semiconductor (d) sfaaress / Superconductor
ST i il 3 fora st o 2

For a sinusoidal waveform, form factor is

(a 1.1 (b) 1.00

(¢) 222 (d) 0.55

7 PC-07/2018
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22,

23.

24.

25.

gl o et ar 6t wE O eeferd |

The amount of current flowing through a resistance depends on

(a) ik wyes dieear W/ Applied voltage only

(b)  wfadier =1 infr gea / Ohmic value of resistance

(c) wiata % Wik dteedr adn A qea W/ Applied voltage and ohmic value of the
resistance

(d)  3uls ® ¥ i3 A1 / None of above

yearafda § e 9 e A€ Ear e

An alternator doesn’t contain one of the following :

(a)  wdiger / slip-ring

(b)  fee uftades / commutator

(c) @=ymeh/ field system

(d) @ miEt/ armature

fore e 1 | & o1 e 1 R 7

What is the value of current Is in the circuit shown below?

lh=3A
ls=1A
la=5A
@ 1A (b)y 4A
() T7A (d 3A
washia 80 V =SHTAR Hehd &1 rms o4 2
The rms value of sinusoidal 80 V peak-to-peak signal is
(a) 80/22.7V (b) 80/+2V
(c) 40/2V d 80V

8 PC-07/2018
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26.  A9HE W H T &1 Yiady

27.

28.

29.

With increase in temperature, the resistance of copper will
(a) @M/ decrease
(b)  w&/increase

(¢) I E/become zero
(d) f@rEmm / remain constant

feramdy W& & o foTe 7w e 2|
Potentiometer is used to provide
(a) ferufdyagea/ A fixed resistance value

(b)  uftadi wfadia gewr / A variable resistance value
(c) =3 oft a1 wiadier g1 / Any two resistance values
(d) sfies wfdta g / A resistance value in steps

RLC uftae § 191 stgfa

For RLC Circuit, at resonance frequency :

(a) ©m At Bl § ﬁmm%mmﬁﬁﬁ% / Current is maximum and is in
phase with applied voltage

(b) G Aferes Bt @ «AfeRT SR Steear & |re wE Hvig 7at | Tedl & / Current is maximum but it
lags behind by small angle with the applied voltage

(c) R YAaH Bl & 3 U dleed! o WY Fell § Wt & / Current is minimum and is in
phase with applied voltage

(d) gm0 A Bt ® 3 Wgeh dieedr & 370 oY I 7at d war @ / Current is minimum and it
leads the applied voltage by a small angle

ATt e, Tt 3R gavt Ti et aret e gferiesk i giy ge BT B

The resistance value of a carbon resistor having orange, red, brown and goldan colour
bands is

(a) 32kQ 5% (b) 3.2kQ 5%
) 320Q+5% @) 32Q2+5%

9 PC-07/2018
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30.

31.

32.

33.

Frrferfiaa st 1 =reteh sl § T aldi ¢

Which one of the following conductors is used in bulbs?

(a)
(b)
(c)
(d)

2meed / Tungsten
@Teiq / Carbon
e / Copper

qrziH / Nichrome

et gt e i wfodie & s @ forega wifvs o 3o o wurdia eidi 21

The electrical power converted into heat when an alternating current flows through an

ohmic resistance is

(a)
(b)
(c)
(d

Fered wiftk / True Power
st wiftk / Apparent Power
yferemdt o / Reactive Power
am wifw / Heating Power

wied aea s § Frafefad 9 3 erd o sy R S ?

Which among the following materials is used for making split rings?

(a)
(b)
(©)
(d)

fireat «rar / Wrought iron
qrelt / Copper
godi @rel / Cast iron

Fegfufran / Aluminum

wferifirsfier <idi st qzermdt sifeh Torek g w61 ARG 3UE @

A practical method to improve the lagging power factor of a fluorescent lamp is to

(a)
(b)
(c)
(d)

9 =i dteear s / Increase the voltage across the lamp

uftaer yz gemfe waifsa w1 / Connect a capacitor across the circuit

gftaer & genie 1 Sfvrt & g9ifsa % / Connect a capacitor in series with the circuit
<9 uftaer Ik wEfsa %1 / Connect an inductor across the lamp circuit

10 PC-07/2018
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34.

35.

36.

31.

319 ATclh o ehlelcl SIS ATeleh ol HIIaT H:I1 87

What is the advantage of stranded conductors over the solid conductor?
(a) e @dien / More flexible

(b) STy e =1 SATE & / More area of cross section
(¢)  =umerufadiar / More resistance
(d) sFETEsE / More weight

1 KW, 250 V & 91 d19e I0cAsY & | TRIea o7 o o 3= 8 ST s ?

Four heaters of rating 1 KW, 250 V each are available. How will you connect them for
maximum heat?

(a) @eft Afri g/ all in series

(b) wfigmad/allin parallel

(c)  #vfi 4 <41 gTud sirei § / with two parallel pairs in series

(d) wwSIE gud SR gEt 4ot § / one pair in parallel with other two in series

TR w1y, faega it o=t =reres Siet 81 30 | i |1 STerskdl it gfY i st S 87

Normally metals are good conductor of electricity. Which is the good conductor in terms
of conductivity?

(a)  @rmar/ Copper

(b)  sfegfafm / Aluminum
(c) =t/ Silver

(d) Ta« /Brass

vifeh gfonfis < Fdemar sm Fa H el ®

Efficiency of a power transformer is of the order of
(a) 50% @ / About 50%

(b)  75% d / About 75%
(¢) 86% dh / About 86%
(d) 98% as% / About 98%

11 PC-07/2018
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38.

39.

40.

41.

ferggerieft qanel st qerd ToTaH 1 27

What is the fundamental property of the insulating material?
(a) W ¥ishst atcedr / Low breakdown voltage

(b) 3= TaEd vtk / High dielectric strength
(c) H @A / Less flexibility
(d)  m=anngl / Hygroscopic

A.C. ufta =i 9Ifeh o gl 2l

Power factor of an A.C. circuit is given by
(a)  wfod/gfdmen / resistancel impedance

(b)  =emd wife /emeh wifeh / real power / apparent power

(©) kW IkVA
(d) ST EH /all of these

=78 & i wiver i vt et 3 Rt s wfekiereh e S Hed 2 7

In which of the following motor, external resistance can be added to start the motor?

(a) Egad ga gegshiier AT / A salient pole synchronous motor
(b) @i aer T Ere / A slip ring induction motor

(c) Tosrf JwurHen / A squirrel cage induction motor
(d)  heferd Tet geashiferss Hiet / A wound rotor synchronous motor

st o (|-t ) g e % s (D) & weiferd  forereht afm 2l

The fuse current (l-ampere) is related to fuse wires diameter (D) defined by

(@) la(1/D) ) laD
(c) laD"™ (d laD?

12
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42.  gerf ufonfiE B

A step-up transformer increases

(a) dieear/ Voltage

(b)  fagauma/ Current

(c) Wi/ Power

(d) s1mafa/ Frequency

43. IR YETEA & G99 dF el 9ietH Uk el 3l 711 dl 98

If single phasing of three phase motor occurs under running conditions, it

(a)  gi@®s st / Will stop immediately
(b) T %u afefd ador @ =@rd @it / Will keep running though with slightly increased slip
(c) =% %eh STl 91 98 A fohu SiHaTet R o 19 W =@d! Wit / May either stop or keep running
depending on the load carried by it
(d) =t Wt w erars st / Will become noisy while it still keeps running
44,  geashiferh HIct 39h3 % AP R w & fore et st 21

Synchronous motor is installed at receiving end of substation to

(a)

w1fth 7ok @@ 2 / Improve the power factor

(b)  TeR2IM 1 dleedn fer T@H 2q / Stabilize the substation voltage
(c) A<M %™ & &g / Perform both of above functions
(d) =15 %M 7€ % =g / Perform none of functions
45. e T 2l
Fusing factor is :
(a)  gAdH GITEH " / F=if@ amr / Minimum fusing current / rated current
(b)  eftrraw wre am / fyifa g / Maximum fusing current / rated current
(c) Tuif@ am / JFaw g g/ Rated current / minimum fusing current
(d) Traffe am / sifeeran @er gmr / Rated current / maximum fusing current

13 PC-07/2018
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46.

47.

48.

49.

ST o U HiE1 370 el o1 feregga sTqees EECI

During charging, the electrolyte of a lead acid cell becomes
(a) @Ewh / Stronger

(b) g&a@/ Weaker
(¢) <</ Water

(d) uden/ Diluted

T I SATHTY 19 T HITHT SYHTT T elaT 87

Which tool is used to measure the size of the conductor?
(a) a7 / Bevel gauge

(b)  affm T/ Vernier gauge
(c) WM& ar S / Standard wire gauge

(d)  eUs 7 / Depth gauge

forega uftay < wraerar EEIEIE G

Continuity of an electrical circuit is usually checked by

(a)  3fredier/ Ohmmeter
(b) 3=/ Ammeter
(c)  dreeHter / Voltmeter
(d) ®R/Megger

uftue ferstes # eruy HEe — g fen s 21

Short circuit protection is provided in the circuit breaker by

(a) argfaaEA/ Frequency release
(b) arfEHEA / Thermal release

(c) gaehrHrEA / Magnetic release
(d) f=areear it / Low voltage relay

14
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50.  wifts afwnfis & gegeh dw fod g )

51,

52.

53.

Oil is used in a power transformer for
(a) =& / Lubrication

(b) ¥/ Cooling
(c) wfdtw/ Resistance
(d) feEg/ No purpose

ELCB 1 ferery 3wz amyfd e 1 grar 8 st &

ELCB's are specially used to disconnect the supply under
(a) =y feafa / Short circuit condition

(b) 2wy ferfd / Ground fault condition
(c) Togaua feafa / Open circuit condition
(d)  sifawr feafa / Over load condition

3 elT, 4 AR AT F ford Gad Sgalq fonfis gdua S ar 2?

Which of the following transformer connections are best suited for 3 phases, 4 wire

services?

(a A-A
by A-Y
c) Y-A

(d) 3w H ¥ *E A/ None of the above

138 Wi =l U8 w1 Tar @

Ground resistance should be designed such that

(a) "I ufadra @ed 0 81/ Grounding resistance should be as low as possible
(b) Y H9hA wfcria ge@ a1 @1 / Grounding resistance should be as high as possible

(c) @A uferie g8 v & / Grounding resistance should be always zero
(d) 39§ & %IE 7€ / None of the above

15

PC-07/2018




Frafier 3T 7% (380 ), FEHTES

A SPACE APPLICATIONS CENTRE (ISRO), AHMEDABAD SET
I isro

O i) A
TECHNICIAN ‘B’ (ELECTRICIAN)

54.

55.

56.

af.

earc ot & i i Tery Tedl ue fadies = e e v & e &

Before removing the ammeter from a current transformer, its secondary must be short
circuited in order to avoid

(a) @i e atfeskad aoe / Excessive heating of the core

(b) 3= fidrre emf/ High secondary emf

ZeAar gl

(c) <refdwed/ Increase in iron losses

(d) 3wtk @t / All of the above

SAW@QW%Wﬁﬂ%ﬁmﬁ%m&aﬁwmmwmﬁmé?

Which one of the following is the minimum size of copper earth continuity conductor for a
domestic installation having 5 A capacity?

(a 1.5mm? (b) 2.5 mm?
() 5.0 mm? () 4.0 mm?
et HTC 61 G Y[ 3 Fehe STt @ e wife e g e

When the pointer of a Megger reads close to zero, the resistance being measured is

(a)  =faaw/ Overheated
(b) ¥=/High

(c) “/Small

(d) amgUi/ Faulty

Wﬂ@%ﬁlﬁa@ﬁ:mﬁﬁm@wﬁw,mawwﬁ%m@ e 2

A metal plate, pipe or other conductor or an array of conductors electrically connected to
the general mass of the earth is called

(a) ¥dr/Earth wire

(b) wzoEere/ Earth electrode

(c) v ifafss==ers / Earth continuity conductor
(d) y<ffa=/ Earth terminal
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58.

59.

60.

61.

A SETer TR o i 4§ Frefafaa § 8 w0 A e ad A 27

Of the following statements concerning parallel operation of transformer, the one which

is not correct is :

(a)
(b)

(©)

(d)

afonfis o wHE ateed fafon g =rfee / Transformers must have equal voltage ratings
aRunfis § @€ i siqud @1 =ifse / Transformers must have same ratio of

transformation

g W 34t wfonfis w1 y=rem a1 S 2 / Same Transformers must be operated at
the frequency

uftonfis o g kVA fafor 8912 / Transformers must have equal kVA ratings

2 V o fora i vrer &6t w61 12 V T & fordt iR o wreiiem & wfa o st 27

How many lead acid cells of 2 V are to be grouped for 12 V supply and by which
connection?

(a)
(b)
(c)
(d)

6 Gca gma ¥ / 6 cells in parallel

6 | Avft § / 6 cells in series
12§ gmaa @i / 12 cells in parallel
1289 4t 4 / 12 cells in series

e wiadifietier <fdi o srfersra & wuff == % ufed fora o fer 3 fewa 27

In some fluorescent lamp installations, wheels of rotating machinery appear to be

stationary due to

@

gurdify ardffa wma / Stroboscopic effect

(b) ¥FdifH/ Phosphorescence

(c) ﬁé?lqﬁww / Poor circuit power factor

(d)  fr= ateear smyfd / Low voltage supply

120 Ah emararet sl 8 A um Y o ford 2 merdt 2

A 120 Ah capacity battery can deliver a current of 8 A for a period of
(a) 20hrs (b) 15hrs

(¢) 12hrs (d) 8hrs
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R /e JRAHTHY ST STANT 1o v fohen ST 21
Current transformers are used for measurement of
(a) gl / Frequency
(b) dieesi/ Voltage
(¢c) Temgawarg / Current
(d) =ity / Harmonics
sl 3 o3 wmia & At 21
Cells are connected in parallel to :
(a) diees 3@ @M 24/ Increase the voltage output
(b) et i Ul 37 e e &/ Increase the ampere hour capacity of the cell
(c) %= 3ee e o/ Decrease the voltage output
(d) freravare emar sieH ¥4/ Increase the current capacity
ity 31 F 19T 1 okl &
The resistance can be measured most accurately by
(a) dreei-teiE vgdt / Voltmeter-ammeter method
(b) st usdt / Bridge method
(c)  weerHEt/ Multimeter
(d) ®W/Megger

'Q ferega ol W ST 3B T R R Y

What is the formula to find out the quantity of electricity ‘Q"?

(a)
(b)
(c)
(d)

Q = 4/ /g9d [Current / Time
Q = (um)? * 9fede / (Current)® * Resistance
Q =9/ * gqg [ Current * Time

Q = (dieear * 1) /a9 / (Voltage * Current) / Time
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66. Trmferfia i @ g e T 27

67.

68.

69.

Which of the following is not the property of magnet?
(a) e WYl o I qYT afevr i st fer e § f&erd @ / When suspended freely moves to

a fixed position relative to North and South pole of earth

(b)  wadA g1 ASiErl gk uerdt § geskdr fmivr st @ / Produces magnetism in a nearby

magnetic substance by induction

(c)  3T8HM yd Uk ol § wigewfia g qer @amyd s1shidd €1d 2 / Unlike poles repel each other

and like pole attracts each other

(d) e vered SIY e, $EdTd 1 AT T € / Attracts magnetic substances like iron and
steel

Ul SheTaTell Sad- Hiet o =i s faem B 3 1 ST Fehdl 2

The direction of rotation of a single phase induction motor can be reversed by

(a) Ml @3%’&3[ %! 3ce1 &L / reversing the connection of both windings
(b)  wadA TSI st 3weT Heh / reversing the connection of staring winding
(c)  3mqfd GATSH =l 3521 1 / reversing supply connections

(d)  fogafef == & W@ & / using a reversing switch

P T 1 S|t 2|

Tesla is the S| unit of
(a) T uEaT / Flux density

(b) = 9T o1 / Magneto motive force
(c)  wfaemT/ Reluctance
(d)  gwehr &= gz / Magnetic field strength

Y[ it ¥R 230 V, 50 Hz ac mqfd ot w=ifs gan 2, qe 9 &1 wifth 1ures & |

A pure capacitive load is connected across 230 V, 50 Hz ac supply, the power factor of
the load is

(a) 3A/Zero (b) wE= / Unity
(¢ 15 (d 0.5
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70.

71.

72.

RLC #ufi yftge < gfdqanan 3l

The impedance of the series RLC circuit is

(a)
(b)
(c)
(d

gfeorrfirs & quivifia diel 1 JoaE 1600 W 2| sreisitd el i gaham

(R2+XL2+XCE)1.’2
(R2+XL2_XC2)1J'2
(R*+(X-Xo)*)'"™

(R2+(XL+XC)2)1I'2

The full load copper loss of a transformer is 1600 W. At half-load the copper loss will be

(a)
(b)
(c)
(d)

6400 W

1600 W

800 W

400 W

faffiga § & #1991 LED 31979 Yo Siedl 8¢

Which one of the following LED emits an invisible light?

(a)
(b)
(c)

(d)

@t/ Laser LED
31t / Infra-red LED
fg@fi / Bicolor LED

ot / Tricolor LED

20
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73.  ufdeme s v @

Units of Impedance is
(a) =/ Henry

(b) &=/ Watts

(c) =AeqgE/Ohms

(d)  319UTd 84 % HAU HIS Uws 21 / Being a ratio, it does not have any units

74.  ofonfis gt sr- v adier fafvaa & 2q foFan st 21

No load test on a transformer is carried out to determine

(a) e %1 UM / copper loss
(b) T g AU el 1 &1 / magnetizing current and Copper losses
(c) T 9T a¥1 IYA-¥R &1 / magnetizing current and no — load loss

(d)  ufwonfas i gsan / efficiency of the transformer

75.  eaH i uTg sheefe Yoell § SET STErgEiEy § 39N BT 8, q9 shed 1 IUFNT ek
USR]

In the metal conduit system of wiring, where there is zigzag wall projection the cable can
be run by using

(a) | 3 54 / Standard solid bends
(b) W ffe s7=A / Standard inspection bends
(c) 1g T %2 / Metal flexible conduit

(d)  3iqers oA / Offset bends
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76.

77.

78.

79.

MCCB 1 qui &4 2
Full form of MCCB is
(a) Moulded Case Circuit Breaker
(b)  Main Case Circuit Breaker

(c)  Main Control Circuit Breaker

(d)  Main Current Circuit Breaker

feonfe # 29 wfad & gaifer fea sman 2

In transformers, the Tap changing are connected to
(a) HTuwd F=eft / HT Side winding

(b) LT uwd Feeft/ LT Side windings
()  HTandi LT ured feefl / Either HT or LT windings
(d) 3IWEAAFEAE / None of the above

SYSHLYT ek oh e I T ATl 3 FEd 2|

The force which produces movement of the pointer of an instrument is called

(a) fazwfi o= / Deflecting force
(b)y e i@ / Controlling force
(¢)  ¥awed &« / Damping force

(d) faede @t / Distracting force

dlee died BT |TfEY)
A voltmeter should have y
(a) T svafes afodia / Low internal resistance

(b) 3= ik gfedry / High internal resistance
(c) ferawaufis/ Electrostatic plates
(d) TraEsE yad® / A sensitive amplifier

22
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80.

81.

82.

83.

raes o A rfersTia ferega 3 A9k et 61 IETE 2|

The meter installed at your house to measure electrical energy is an example of

(a)  g=rh YehR 1 39K / Indicating type instrument

(b) e wehr &1 3usktur / Recording type instrument

(c)  Wehlshd WehIL =1 39U / Integrating type instrument

(d) 39U A ¥ Tt wenr =1 3usRtuT &1 / None of above type instrument
MCB #it ‘B’ aforat IR0 3 TV & ferdt I Bt B

The ‘B’ series MCB is used to protect the equipment.
(a) s/ Geyser

(b)  aTaTIEeH = / Air conditioner

(¢) @rmIEE/ Locomotives

(d) #reT/ Motor

# 8 fram gra 38a emf <t foan we=r i s 27

By which law, the direction of induced emf will be identified?

(@) e =1 wem fargga gerehi Swor Frem/ Faradays first law of electromagnetic induction

(b) W = fxch fargga v Jor fem / Faradays second law of electromagnetic induction
(c) === fEm/Lenz's law

(d)  waifi % 2@ w1y frw / Fleming left hand rule

srafea vifts amgfd (UPS) a1 I wifdae Wi dwemr 3g ferdal 8§ 3w 2 21
Uninterrupted Power supply System (UPS) is provided to protect critical loads against
(a) H&F R 3gfd 1 & 81 / Failure of Mains Power Supply

(b)  3mYfd teear & 7w Thifd / Sags and Swells in Supply Voltage

(c)  miha ammyfd ® &xforear / Transients in Incoming supply

(d) 3vus @t/ All of the above
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85.

86.

Which type of DC generator is called constant voltage generator?

(a)  DC avftsifi= / DC series generator
(b)  DC urvdug s / DC shunt Generator
(c)  DC @ urgdugy sy wif= / DC long shunt compound generator

(d)  DC g urvduy &g 54 / DC short shunt compound generator

o7 At <l 7

The speed of an induction motor

(a)  wrCse % |y sifiek wedt ® / Decreases too much with the increase of load
(b) wReed & siedi € / Increases with the increase of load
(c) wRaed & «idl & wedi 3 / Decreases slightly with the increase of load

(d) wred ¥ @ Ed ® / Remains constant with the increase of load

ST e 3 SN aRoTiin 3 A &1 gFEE 1000 watts ®, e 1 JHE o g

The copper loss of a transformer during the maximum efficiency is 1000 watts, what will
be the iron loss?

() 1200 W
(b) 1000 W
€ 900W
d 800W
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87.

88.

89.

90.

ey ufiuy faiisish (MCB) <l fariis armar amr=ra: el 21

Breaking Capacity of Miniature Circuit breaker (MCB) is generally
(a) Upto 10 kA

(b)  Upto 100 kA

(¢) 2kA== /Below 2 kA

d) >100 kA

I T 1 IR Tt i g e

Which type of transformer does not isolate the secondary?
(a)  fowa ufoonfis / Potential transformer

(b)  TfnfEz / Auto transformer
(c)  foaw ufenfim / Distribution transformer
(d) smuufenfim / Current transformer

1 ST Y01 HIT T Yedld STeATeof gt 2|

The starting torque of a 1-phase induction motor is

(a) 3= /High (b) #=H / Medium
(¢) =I/Low (d) 3=/ Zero

reasiex 7o S Gt ) fr R e 2| R afonfi 1 5 % R & futo

The transformer used in conjunction with voltmeter is called potential transformer. The

standard rating of secondary of potential transformer is
(a) 240V

(b) 110V
) 415V
d) 660V
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